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SAP CO2 Resource Efficiency – Tool 9: The 5 ‘Why’s

SUSTAINABLE ACTION PLANNING (SAP)

CO2 Resource Efficiency Tool 9: The Five ‘Why’s

Have you ever been subjected to a toddler-inquisition of repeated ‘why’s?  Okay, he/she probably just liked your undivided attention, or the sound of your voice.  However asking ‘why?’ and then asking it again and again can be a wonderful tool to unpick the cause of a problem.  

Five is an arbitrary number.  You may need to repeat the question fewer times, or more.

The purpose is to get past assumptions and drill down to root causes. 

As with the Cause to Effect fishbone (Tool 11) which you can use this tool with, you need to start out by agreeing the specific problem, and writing it down.  This gets everybody focussed on the same issue.

Ask why the problem occurs, and write down the group’s answer.

If that doesn’t get to the bottom of the issue ask why again, and write that down.

Keep doing that until you get an answer that feels as if it has got to the root cause.

You can use 5 Whys with the Cause and Effect fishbone.  In the example of the GP writing a prescription, you could use 5 whys to unpack the GP patient conversation, and why c50% of prescriptions are not use compliantly by patients, or at all.

Tip from the front line: Avoid getting into ‘can-do’ action until you are sure you have identified cause and are not just dealing with symptoms.  Keep on trying to find the right way to ask the right question. 
Here is a real example made anonymous to hide the blushes.

A food canning factory had just spent over £300,000 enlarging its effluent treatment plant, a classic ‘end of pipe’ solution to a problem.  The engineer in charge of the plant took part in a lean engineering course.

Q1.  Why did you build a bigger effluent treatment plant?

A1.  Well production had gone up and the old one couldn’t really cope with the extra volume coming into it.

Q2.  Why was there more waste?

A2.  Oh it comes from the production process, and we just needed to handle it better.

Q3.  Why was more waste coming from the production process?

A3.  Ah well you see the cans go round on a chain conveyor and every so often one snags and tips over.  The spilled contents have to be washed out, and that’s what comes to the effluent plant.

Q4.  Why do they snag?

A4.  Oh gosh – the conveyors are really quite worn and now we have increased production it is all running at full speed.  Showing its age I suppose.  The cans jump right off sometimes. 

Q5.  So why didn’t you replace the conveyors.

 A5.  Well production looked at replacing them but they said it would cost £25,000 each and there are six, so £150,000, which wasn’t in their budget, and . . .  oh NO!”

--
Much health care can be seen as an ‘end of pipe’ solution too.  There may be better ways to maintain health in the community rather than fixing it in hospital when it has gone wrong.  Future strategy in health care provision rests on this kind of balance.  Actions to improve healthy living will also reduce NHS carbon emissions.  

Another example
· A lot of theatre instrument trays are returned for repacking.  Why?

· They get damaged in the theatre store room before use.  Why?

· They are stacked four high on a shelf and are heavy.  So when you pull out the bottom one it tends to snag on the shelving, tearing the sterile wrapping.  Why?

· Well we’ve only got a small storage room.  Okay, but why does it snag?

· It is welded steel wire shelving and the edge lip is sharp at the welds. Why don’t you change it?

· Returns for re-sterilizing and packing don’t go onto our budget.

Which opens up a typical NHS problem.  What is the cost of the rework in the sterilisation unit?  What would fit-for-purpose theatre shelving cost?  If fixing the problem was the cheaper solution who pays and who benefits?  
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